O 2020 =

T= Aot Off AtoH

1 2020 SOME=A(27], ¢HExR) §28Y 25,000,000
2 gf| O|{H| 2 =2 19,800,000
3 it E2) =289 23,000,000
4 StZHX|E RTU 2| &Y 29,700,000
5 St Ml E12) 2|89 33,200,000
6 SI2EX| e YA|AH 22XH|(WCDMAE &) 10§ | 10,045,000
7 JEHAMEMSHZ) 7|2 F2|E9F 10,530,000
8 SEEAMEMSHZ) MY 2|89 27,660,000
9 sEH FEAEZ SHTSA|AH F0j 33,000,000
10 =4t HAA L E QIEALY 2HEE 704 42,020,000
11 MetAARE HEEAE AKX} 17,472,000




ol’g 74 H|2FH H| 2 CH X} H AKX}
25,038,325 22,535,000 &<2|&FE2| | 2020.01.20.
19,404,000 18,810,000 &OIO|EHAH 2020.01.28.
22,540,000/ 21,850,000 MAXRME 2020.03.04.
29,106,000 29,100,000 ®X| 2A|AEZ[AMX]| | 2020.03.30
32,536,000/ 31,680,000 MARME 2020.04.14
10,241,000| 10,230,000| &X| 2A|AEIZ| K| | 2020.06.11.
10,606,400| 9,358,000 &&OorC| A 2020.09.23.
27,106,800 26,499,000 MAZEME 2020.09.28.

33,000,000 @®X| 2A|AEZ[AMX] | 2020.11.24.
41,179,600 40,960,000 G 2020.11.27.

17,472,000 ZHHES 2020.12.10.




FoAtEA

= /7HASF R Al E M26 =M1 M52 7t=2(8d0] HZEH)
T/HASF R Al E M26Z M1 M52 7t=2(dd0] HzaH)
TZ7HASE Al E M7E=RN1E N2 (RS2 =D =2 A 9
T7HASFE Al E M6 M1 M2 A =(EF27E)

T/HASF R Al M27Z A1 22 (RS 2 4 E 1 =2 A <)
T/HASFE Al E M6 M1 M2 A=(EZ27E)

T /7HASF R Al E M26Z M1 M52 7t=2(8d0] HzEH)
= 7HA SR Al E M27=R1E M2 (S0 & &t =0 A 9
T7HASF R Al E M6 A1 M2 M=(5E27=)

= 7HASHE Al E M27=R1E M2 (S0 & &t =0 A 9
T /7HASF R Al E M26Z M1 M52 7t=2(8d0] HzEH)




